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HO|ATH NSHE | SEE| L %
BN | HHHK| PA
25H|%5%5m| TK
Lkd | LEL w |
B | BELR| ELA
SHE | SHES| k%
12,794 1,575 6,889 394 2,987 949
100.0 12.3 53.8 3.1 23.3 1.4
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30 ThESEMER - EXQFARREFAER

£l kT L A0 A0
A L= | =" )

B o) 1= (T 3 "
&= Y (AFS -4 A L [l
# Y (AR &
. e
- .
% £l
#l A
o WEEBFFREL 12,794) 6,969 2 449 761| 1,106 1,509
100.0 54.5 19.1 5.9 8.6 11.8
o NMEFHKRS > FEE 12,794 104 1,086 612| 7,501 3,491
100.0 0.8 8.5 4.8 58.6 27.3
o VILN—AMtrE— 12,794 456| 2,381| 3,140 3,287 3,530
100.0 3.6 18.6 24.5 25.7 27.6
o BIEARESIER 12,794 331| 1,798 1,624 5,826| 3, 215
100.0 2.6 14.1 12.7 45.5 25.1
o BEERVATLEE (AEHR) 12,794 198] 2,286 670| 6,027 3 613
100.0 1.5 17.9 5.2 47.1 28.2
o BEERVATLEE (EFE) 12,794 173] 2,874 463| 5,954 3,330
100.0 1.4 22.5 3.6 46.5 26.0
o RREZNHLIBEY—ERER 12,794 145 2,342) 1,106| 5 782| 3 419
100.0 1.1 18.3 8.6 45.2 26.7
EEESEEETEE S 12,794 274| 2,548 563| 5,973 3 436
100.0 2.1 19.9 4.4 46.7 26.9
o CHDEBELY—ER 12,794 205| 2,496 1,267 5,478 3, 348
100.0 1.6 19.5 9.9 42.8 26.2
o BHESHBERTY A—JL 12,794 311 1,749 887| 6,622] 3, 505
100.0 0.2 13.7 6.9 51.8 27.4
o BAESHENEFRIERSEE (GPS) 12,794 26| 1,875 978| 6,378 3,537
100.0 0.2 14.7 1.6 49.9 27.6
o RSFYMBHEICL DHBIORST Y EBDOXIE 12,794 96| 2,028 841| 6,303 3 526
100.0 0.8 15.9 6.6 49.3 27.6
o £EFEtUA—, EEFENL—LER 12,794 524| 2,625 1,598 4,656 3, 391
100.0 4.1 20.5 12.5 36.4 26.5
o M XLiERFHERST 12,794] 1,022 3,071 834| 4,577 3,290
100.0 8.0 24.0 6.5 35.8 25.7
o MILRAR—ViERDEEHEES 12,794 491| 2,827\ 1,260 4,913] 3,303
100.0 3.8 22.1 9.8 38.4 25.8
o HhALASIF—LEBE 12,794 750 1,799 844| 6,816) 3, 260
100.0 0.6 14.1 6.6 53.3 25.5
o RFE&RRGIE 12,794 74| 1,559 2,358 5,296/ 3 507

100.0 0.6 12.2 18.4 41.4 27.4

31 BIrxiE - BEAEBIEICRI D7 7IR DA Y FOREER
ES =

i} i}
B L L 3
= 1= 1= [
# Ly < =
i

Ly

12,794 8,662 2 623 1,509
100.0 67.7 20.5 11.8

32 EFESFZEBELCTELVSEHERE

B (A i YN | YN | BN | R | EE | FE | 0o/ [FREE| & |(HICH| VB RELR| B
EY: E] k) | 5 | & # M| BE | AF | B (Ro&| 20 (oK TH TRE| B
B =] H X ER/ | ER * fE | BEE | & & RE| Lt v 7’¢ TER| RE
= < L 73 A | RI& 3 I | |&E | £k | L SFR| (K |BTE| UL | 5%S5| om
# Y el Ty | Ty 4t B | R’ | o | X Y| && | xtma| | ét BibE| FEIT
. < ol o | s ¥ HE | EER | BIS EHT| D0 | ER#FE| X (oL | RiE
i Y FE | BE | 5 | ki | FIA ] | <KX |TAR| OB |BTA £
# R | R = M| #lE | B El | YR B~ | B | wm X
¥ ~ ~ z ® | oT | #EE %) e % =R #ER HF *
7] = i (] D | FED E % BED 12 xXE (] ] £
) £ % b | ORH#E %z E 28! # b3 AN A 3 B
12,794| 4,844 2,742| 1,108 4,044) 1,843 1,225 1,809 3, 744 487| 1,897| 1,363 525/ 1,603] 1,387| 2,555 2,665
100.0] 37.9] 21.4 8.7 31.6) 14.4 9.6/ 14.1 29.3 3.8/ 14.8) 10.7 4.1 12.5|  10.8] 20.0] 20.8
% (S
(] 12
fth Loy

o} B
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3832 BHICEREZBEVTITI LV EEEMSE
T Ly it

i A VR EN ESF E#E EJE] nE |FTEE| 37& (BICH| UE BEBELR| B3
ES: £ 3 I | | = Fi 4 | BE | A% | BB [=o0f| 20 oK% 7B | THE| B
Bl > paN % E® E & 7 I EE 41 Ha RE| Lt XL 2% (2P| RE
= < A ® R & X & & Iz BIE gl & i FE| KRR (BTE| UD |2RE5| OF
# Y =) T4 Ty Fa B B’i D HE Y| e (@0 £ [BLE| T
. < o | o | i El fit & X B ET| S0 |E#%E| X oL | £
b Y fE EE | % 1K th A B HE| (X | THAE| oF |BTA =
& TR TR E M| wiE | BED El iz Uk B~ RBHE |[wm x»
b ~ ~ z £ DT & B % e 3 =S| & HF *
53] B )i} [} ) D E 1% BED I *XE ) ) =
) 2 & b3 i =i = ] D ih b3 B N e %
1,472 1,572 833 288 1,130 403 281 422] 1,306 102 561 335 72 373 307 578 689
100.0]  13.7 7.3 2.5 9.9 3.5 2.4 3.7 11.4 0.9 4.9 2.9 0.6 3.3 2.1 5.0 6.0
z
)
&l
%
53] 2,167
0.5  18.9
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